Summer 2 Week 6 Maths Day 3

Try BBC Bitesize for daily lessons

[ https://www.bbe.co.uk/bitesize/dailylessons ]

Year 5/ P6 online lessons

Monday 6 July - Friday 10 July BlteS|Ze

Daily lessons

Monday Tuesday Wednesday Thursday Friday

Maths Maths Maths Maths Maths

Distinguish between Identify 3-D Reflection Translation Challenge of the
regular and irreqular shapes from 2-D week
polygons representations

Try the National Academy online classroom for lessons

https://www.thenational.academy/online-classroom/year-
5/#subjects

Online Classroons

Subjects

Please choose subject

Don't forget TT Rockstars!

[ https://play.ttrockstars.com/auth/school/student ]



https://www.bbc.co.uk/bitesize/dailylessons
https://www.thenational.academy/online-classroom/year-5/#subjects
https://www.thenational.academy/online-classroom/year-5/#subjects
https://play.ttrockstars.com/auth/school/student

Summer 2 Week 6 Maths Day 3

Understand and use equivalence.
Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Look at the learning reminders.
2. Complete '‘Mild' or 'Hot' practice questions
3. Finding it tricky? Have a look at 'A bit stuck’ and ask a grown

up
4. Completed the practise sheets? Try the ‘Check your

understanding' questions!

Learning Reminders

‘ Understand and use equivalence.

Each side of the equals sign =~
must be equal - the equations
must balance.

Check these pairs.

[ 134 +8=200~-58 32x4=64x2 ]

134 + 8 and 200 - 58 32x4and 64 x 2
each equal 142, each equal 128,

It’s like a see-saw,
If we add weight to one side, we must
add the same amount to the other side
to make it balance...! A
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Understand and use equivalence.

Find the missing numbers that Remember each side of the
will make these equations equals sign must be equal.
b,lame. )
/
[ 48 - 6=2x[] 3.6xD=10—2.8J

TN

4x5 @ 18 +[ |
=N
/ \
L .
2. 20—6=Ox?

3. 34+2?=100-D
a 45:-5=1a+D

Practice Sheet Mild

Equivalence

5. Dxa:an-a

6. 2x]2.5=100+o
7. 3.4+D:12.6—?.6
8. D+8:84+12
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Practice Sheet Hot
Equivalence

1. 4x5=]8+O 5. Oxc,:ao-s

2. 20-6=Ox? 6. 2x]2.5=]UU+O

3. 34+2?=100-D 7. 3.4+D=12.6—?.6

- 45+5=‘3+D 8. D+a=34+12 a

' Ny

( Chalienge )
Investigate the pairs of numbers you could put into these equations o make the left and right hand sides equivalent.
Find at least 3 different solutions for each.

\ 30x()=()+20 [ )-5=( )+ 2

A bit stuck?

Balance

4+2 @ -3
=

L AN

L u
What is the missing number that will make each of these balance?
1. 7+3=6+D 5. 16-?:O+5
2. 3+1?=O+H 6. 5x4:2}{O

3‘ D+4D=50+30 ? ]2_2:O _]5
4. 91+D=30+?0 o m”"’:m
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Check your understanding

How many times must | add 7 to 7,728 get to 7, 7777

Subtract 205 from each of...
e 123521
e 45 254
e 20062

What will the ones digit of your answer be if you carry out the following
sequence?
1. Start with 30,460,
2. Add 9999
Subtract 999
Add 99
Subtract 9
What's your final number?

kW

What numbers must be subtracted from 21,234 to leave:
* 0055
e 19235
e 21035

Complete each sentence:
ga36+( J=£5  £6.72+(_J=£10

Write the value of each shape.
701- % =3x152 (6.25x6)+ #=120+3
100 —55.68 = % of /A

Here is an equation with two empty spaces.
What ONE number will make the eguation balance?

(3ax5)- ((J=ax(_Jx 4
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Answers

Equivalence (mild)

dxbh=18+2
M-b6=2=7

34 + 27 =100 - 39
45 =K =18= 2
12=6=80-8
2x125=100=4
34+ 16=126-756
ht=8=84 =12

e S il ol

Equivalence (hot)

4=5=18+2
2-6=2=7

34+ 27 =100 -39
45 =5 =18=2
12=6=80-8
2=125=100=4
34+ 16=126-T756
bb=B=084 =12

el S il ol

; .ffChd-ng-l ﬁ]
M
Investigate the pairs of numbers you could put info these equations to make
the left and right hand sides equivalent. Find at least 3 different solutions for
each.
Accept any pairs of numbers that satisfy the equality. eg.

30x 3=70+20 37-5=064+:2

A bit stuck

NOOswhN =
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8.15
Check your understanding

How many times must | add 7 to 7,728 get to 7,7777 7 times

Subtract 205 from each of ...
o 12321 12116
e 45254 45049
« 20062 19857
If done mentally, check children are jotting down part-answers, e.g. 12,321, 12,121
[subtracting 200), 12,116 (subtracting S more). Encourage children to add 205 back to their
answers to check

What will the cnes digit of your answer be if you carry out the following sequence? 0, same as the
starting number since nine 15 are twice added and twice subtracted

Start with 30,480,

Add 9959 40 458

Subtract 998 39 460

Add g9 39,559

Subtract 39,550

What's your final number? 39,550

LU U o

Check children make the right adjustments, &.g. when adding 9999, add 10,000 then subtract
1; when subtracting 9595, subtract 1000 then add 1

What numbers must be subtracted from 21,234 to leave:
® 9885 11235
e 19235 1995
o 21035 189

Complete sach sentence:
£4.36 + [64p or £0.64) = £5 £6.72 + [£3.28] = £10
4B83+[5.17]=10
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Write the value of each shape,
701-—245 =3 x 152 (6.25x6)+25=120+3
100 —-55.68 = % of B2 64

Here is an equation with two empty spaces.
What ONE number will make the sguation balance?
(34 x5)=10=4x10x 4



